
VOLVO
Aftermarket parts for

Wheel Bolt
Model	 Type	 Year	 Oe Ref	 Art No
400	 Wheel bolt	 1986-	 3123048	 61433048
			   (3121583)

850	 Wheel bolt M12x1,5 Zinc	 1994-97	 3546651	 61436651
C70		  1998-00
S/V70		  1997-00
V70XC		  1998-00
S/V90		  1997-98

850	 Wheel bolt M12x1,5 Chrome	 1994-97	 3546899	 61436899
C70		  1998-05
S/V70		  1997-00
V70XC		  1998-00

	 Wheel bolt M14x1,5 Zinc
S80I	 Ch 426000-	 1999-06	 31373474	 61431644
S80II		  2007-16	 (30660745)
S60I	 Ch 600000-	 2001-09	 (9485474)
S60XC		  2016-17	 (9451644)
S/V60		  2011-17	
V70II	 Ch 617000-	 2001-07
V70III		  2008-16
XC70II	 Ch 254000-	 2001-07
XC70III		  2008-16
XC90		  2003-14
XC60		  2009-17



VOLVO
Aftermarket parts for

Wheel Bolt Cover
Model	 Type	 Year	 Oe Ref	 Art No
S40/V50	 Wheel bolt cover set, 	 2004-	 31471082	 61431082
C70II	 20 pieces, chrome	 2006-		
C30		  2007-		
S/V60II		  2011-		
S/V60XC		  All		
S80II		  2004-		
V70III		  2008-		
XC70III		  2008-		
S/V90		  2017-		
V40II		  All		
V40XC		  All		
XC90		  2016-		
XC60		  -2017

S40/V50	 Wheel bolt cover, chrome	 2004-	 31471082	 61433906
C70II		  2006-		
C30		  2007-		
S/V60II		  2011-		
S/V60XC		  All		
S80II		  2004-		
V70III		  2008-		
XC70III		  2008-		
S/V90		  2017-		
V40II		  All		
V40XC		  All		
XC90		  2016-		
XC60		  -2017	

	

				  
				  



VOLVO
Aftermarket parts for

Wheel Bolt Cover
Model	 Type	 Year	 Oe Ref	 Art No
S40/V50	 Wheel bolt cover set, 	 2004-	 31471686	 61431686
C70II	 20 pieces, dark grey	 2006-		
C30		  2007-		
S/V60II		  2011-		
S/V60XC		  All		
S80II		  2007-		
V70III		  2008-		
XC70III		  2008-		
S/V90		  2017-		
V40II		  All		
V40XC		  All		
XC90		  2016-		
XC60		  -2017	

S40/V50	 Wheel bolt cover, dark grey	 2004-	 31471686	 61431691
C70II		  2006-		
C30		  2007-		
S/V60II		  2011-		
S/V60XC		  All		
S80II		  2007-		
V70III		  2008-		
XC70III		  2008-		
S/V90		  2017-		
V40II		  All		
V40XC		  All		
XC90		  2016-		
XC60		  -2017
								     
S40/V50	 Wheel bolt cover, 	 2004-	 31471687	 61431687
C70II	 20 pieces, silver	 2006-		
C30		  2007-		
S/V60II		  2011-		
S/V60XC		  All		
S80II		  2007-		
V70III		  2008-		
XC70III		  2008-		
S/V90		  2017-		
V40II		  All		
V40XC		  All		
XC90		  2016-		
XC60		  -2017

S40/V50	 Wheel bolt cover, silver	 2004-	 31471687	 61431692
C70II		  2006-		
C30		  2007-		
S/V60II		  2011-		
S/V60XC		  All		
S80II		  2007-		
V70III		  2008-		
XC70III		  2008-		
S/V90		  2017-		
V40II		  All		
V40XC		  All		
XC90		  2016-		
XC60		  -2017			 



VOLVO
Aftermarket parts for

Wheel Nut
Model	 Type	 Year	 Oe Ref	 Art No
140,160	 Wheel nut		  87699	 61437699
240,260

240,260	 Wheel nut	 1985-	 1273332	 61433332
			   (688984)

700	 Wheel nut	 1984-91	 1273068	 61433068
900		  1991-98
S/V90		  1997-98

S/V40	 Wheel nut, Ch -693043	 1996-04	 30824547	 61434547

S/V40	 Wheel nut, Open	 1996-04	 30873148	 61433148

C70	 Wheel nut, M12x1.5 Ch -97836	 2006-	 31200241	 61430241
C30	 Ch -195082	 2007-
S40	 Exc (CN) M12x1.5 Ch -502929	 2004-
V50	 Exc (CN) M12x1.5 Ch -553219	 2004-



VOLVO
Aftermarket parts for

Wheel Stud
Model	 Type	 Year	 Oe Ref	 Art No
140,160	 Front & Rear. Wheel stud		  1229808	 61439808
240,260		  1975-	 (676338)

700,	 Front. Wheel stud	 1984-	 1359905	 61439905
900		  1991-98

700,	 Rear. Wheel stud	 1984-	 1209295	 61439295
900		  1991-98


